Pre-Calculus Homework #11 — Answer Key

(y-4)° (x+5)°

1) Hyperbola ~ 49 B 1 Vertices=(-5,11),(-5,~3) Center =(-5,4)
Foci = (-5,4+ \/%) (-5,4—- \/@) Axes of symmetry: X=-5, y=4
59 —7 11

L Yy=—X+— y=—xX
Asymptotes: Y 5 5 y 5 5
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(y-6)° (=7 _,
2) Hyperbola 100 49




3) X=-40,y=96 x=-40,y=-16 x=10.6,y=13.5 x=10.6,y=-5.5
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4) Parabola X= 3 (Y+3)°+3 Vertex = (3,-3) Focus = (Z ,—3)

17
Directrix: X:Z Axis of symmetry: Y =—3
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7)
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9

10)
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13)
14)

15)
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19)

20)

(x-9)°  (+9° _,

Ellipse 49 16

i . ’ . .
= 57°22'55.2", 135", 219.765
é, 1.8678, ‘—f _1.4042

0 =225,315", 6=59.0362",239.0362°, € =060,240°, No Solutions
2977[, 281°44'24", -510°, 328.092%°

Q, 10279, ﬁ, 0
2 3
0 =60°,120", 6=180", 6=120",240°, 6=120",300°

—1097  16016'48" 1007, 58.3825

-1 —9.3555, undefined, -.9756
0 =337.9757°,202.0243°, 6 =120°,240°, 6 =300",240°, &6=90",270°

E, —241°55'48", -390°, 746.4872%

1
%, 0875 2, -1

0=90°,270". No Solutions, 6=150",210°, &=90",270°
67, 241°21'39.6". —690°, —174.155°

1 2

-1, undefined, —
2 2
0=0°,180°, 0=315",225", 6=0,180", &=341.5651",161.565T



